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No. of Questions/gz @ W= : 100
No. of Pages for Questions/Ul & J1 ) G&dT : 31

Time : 2

D[

Hours ] I Full Marks : 300

2L g ) L g7 < 300

Note : (1) This question booklet contains 100 <hundred) questions in  all
(30 in Section ~ A and 70 in Section - B). Attempt as many questions as -
you can. Each question carries 3 marks. One mark will be deducted for each
incorrect answer. Zero mark will be awarded for eac'h unattempted

question.

= Y-GS H g 100 () wT € @ve — § H 30 9 @IS — 9 F 70)
FRABIRE v BT B B B YA BN | TAB G 3 AT B 2| FAP TeAT
X & f3rg ¥& @ wrer SR SRS SIRG U @1 wiis ¥ € |

(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

afe THTRF defoud STR Wel SR @ [Ade udig &, 91 ey 9e) SO ¢

P.T.O.
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1.

SECTION - A

Hrs — A

All the following are acceptable goals for dealing with behaviour problems in
the classroom, except :

(1) helping the child to improve his/her self-control

(2) punishing, when necessary, in private

(3) understanding the offense

(4) utilizing appeals to children that have personal implications
FHATT aEiRe gaersl & gogm & A e € R

(1) ©BTF @Y 37U H-FRE @l gurRa | wsdn

(2) sdal ¥, S8 TERAG B AL HOll aAT

(3) IR BT FAI

(4) I urRiAwSl BT [UART B e e @ o SuEifiar B

A parent of a student refuses to give permission for her child to go on an
educational excursion. The teacher should first :

(1) refer the matter to the Principal
(2) confer with the parent to discuss the educational purpose of the trip

(3) give the class a homework assignment for all parents to sign, giving
reasons why each child wants to go on the trip

(4) ask another teacher in the same class to take that child on the day of the
trip

U B B IMHEadE 319 g8 o) Jefe gET ok N W AT o) Sdi B | ASGTHE
B T YA :

(1) 9 favg &) v & g 99 3T Tl
(2) AfrNTE & WU g P At S R R el e oy

(3) vAF B yFY R® R T AR © 39 vy w @ wen o v e o R
ST GIRY G 99 O AT &7 §RRN 6 @) oM @ ford wmedl anfgd

(4) S® we B B oy FFUE B BET B YU W A W G R FEAT ANRY

(2)
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3. To become a good teacher, which one of the following may not be treated as
very much essential ?

(1) Knowledge of ICT

(2) Knowledge of Subject

(3) Knowledge of Planning

(4) Knowledge of individual difference

U IE3T FATE o @ o e & et srawawar sga o 7@ R 7
(1) o & & &1 7= |

(2) favg &1 79

(3) = 1 s

(4) Fafde = &1 519

4. The most appropriate behaviour of a teacher with an overactive child should

be:

(1) Give the child extra written work so he/she will have a recason for
remaining in his/her seat

(2) Allow the child to leave his/her seat whenever he/she becomes restless

(3) Provide the child with purposeful activities that legitimize the need for
movement

(4) Isolate the child from the class

T AfeAfed T & AT eAIad B FEY SUYF gk B ARy

(1) aﬁ?ﬁa@mﬁﬁaﬂ%ﬁﬁﬁ%ﬁ&ﬁﬁ@ew@%?ﬁww
LR

(2) 92 @1 Iuf e o9 37 iR B A1 B I & Ay & iRy
(3) ﬁﬂ?@ﬁm@ﬂﬁﬁﬁﬁmﬁ%mﬁ%ﬁﬁﬁm
T

(4) 9T BT FET F FCT A AR

5. Subhas tells his teacher that three other boys, who the teacher knows are
Subhas's friends, copy from each other on all the tests. Of the following the
teacher is best advised to first :

(1) give the three boys a zero on the last two tests
(2) confer with Subhas's father

(3) try to understand why Subhas said this

(4) ignore the remark

(3) P.T.O.
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gaY HUH eI d Rrera wwal 8 B O e wEl, o sramad wear ® b
I B BF & 0 o A e g B THF A ¥ oz oRRefy A P A 9
I Ugel TN PR D] GG JeAUD DI oA AR ?

(1) &7 qea} &) T 3id <7 Ay

(2) gaW & Rar o ¥ I F AR

(3) IE WHEH BT WA AT IR F g 09T ) FE
(4) HUT D) Y& B AR

6. Most important quality of a teacher is :

(1} Honesty (2) Diligent (3) Dutiful (4) Punctual
U 3D Bl WaR HETayol o1 8 |
(1) AFER (2) oRseft (3) sxafear (4) Frafiaa

7. When the students failed, it can be regarded as :
(1) The system failure (2) The teacher's failure
(3) The text-book’s failure (4) The individual student's failure
BT B Sl 819 W, 98 [AE S FHA ¢ &
(1) wHe=eT <ol 8 RA (2) NS Aot & I
(3) TRI& I B T (4) BT ariol 2 T

8. If you are unable to get admission in B. Ed., then you will :
(1) start giving tuition at home (2) remain at home till you get a job
(3) take some another job (4) continue applying for admission
39 afg o Yo F ydw TE U €, O T T FXAT @R ?
(1) ¥R R TZIF I (2) A TN TF W W F @B
(3) TS AW FH T (4) W% & oY eFIaR smded B

9. Open schooling programme is basically related with which one of the
following ?

(1) Off campus educational programme
(2) Formal educational programme
(3) Vocational education based programme

{(4) Functional literacy programme

(4)
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et faererdia Hrimy qawy @ e 3 9 feae Wy awifg 8 7

(1) sz uRwR féw srimH

(2) reiRe AfdE Brimy

(3) weAfie ey amenRa adey

(4) =gERe wERar Hrdsa

Through teachers education programme, basically one can learn skills related
with :

(1) School (2) Learning

(3} Interactive Behaviour (4) Classroom Behaviour of teachers

ﬁﬁwﬁwwzﬁwﬁaﬁéﬁﬁmﬁ@@ﬂw%aﬁwﬁu@%
B

(1) faemerm & (2) drEw |

(3) siafhars waeR W (4) RITs Befl 8 FaER W
Psychologist : Neurosis : : ...ccoovcernes * ceeervernrinnnns

(1) Ophthalmologist : Cataract (2) Dermatologist : Fracture
(3) Infant : Pediatrician {(4) Rash : Orthopedist

(1) 7= fafeaas . aifafes (2) T ARyst - aRer Hir
(3) Ry : frg A ARy (4) FE sy fewe
Sherlock Holmes : Sir Arthur Conan Doyle : : Robinson Crusoe : .......ooeoee.n... |
(1) H. G. Wells (2) Shakespeare

(3} Daniel Defoe (4) Charles Dickens

RReliey BF : GR STIR BT Siget « ¢ MR wmal

(1) o o I (2) dFEdRR

(3) ST fewr (4) uredd fed=y

Darkness is to Africa as Sunrise is to :

(1) Japan (2) Dawn (3) East (4) Srinagar
S FHER e @ ford ¥ AW & wEiew #

(1) = & fow  (2) v & fog (3) T @ forg (4) # R @ forg

(5) P.T.O.
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14.

15.

16.

17.

18.

19.

49:125::7:1

(1) 7 (2) 3 (3) 25 (4) 9
Drum is to beat as Piano is to :

(1} Play (2) Sing

(3) Strike {4) Kick

37 et & fold 3 A o -

(1) 9 & fod 2 (2) T & &Y B

(3) TER & ford & (@) 3R B fod &

Rahul put his timepiece on the table in such a way that at 6 P. M. hour hand
points to North. In which direction the minute hand will point at 9.15 P. M. ?

(1) South-East  (2) South (3) North (4) West

REA I B P TgH W 3W WHR W I@dl § & W 6 g9 B @l g O
foram @1 T=w 21 9.15 For I W e arent g3 foa faem Y ofw g1l °

(1) si&ogee (2) sféror (3) SR (4) 9f¥EA

In this series of numbers, write the next one :

fa e <R @ A arTel < FRa

8,14,10,20,26,22 ..........

(1) 28 (2) 18 (3) 44 (4) 42

Age of A is double than B but age of C is one year less than B but two years
more than D. Who is the youngest in age among them ?

1 A ) B 3) C 4) D

ufg & @ 3y ¢ W TN 8 oiafd W B Y 9 W UF Wi FH 8l AR § F A Alel
e B, @ 9= @ W BIC IR aTe B 8 7

(1) @ (2) @ @) 3 4 <
Which animat among the following is different from the others 7

(1) Horse (2) Donkey (3) Camel (4) Goat
e A QA B SR gl ¥ A 2?7

(1) =31 (2) TET (3) & (4) P9
(6)
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If A can complete any work in 7 hours and B can complete one-third of the
same work in 4 hours whereas C can complete half of that work in 3 hours and
D can complete double of that work in 8 hours, then who is the slowest in
completing the work ?

(1) A (2) B 3) C 4) D

afe a1 el o™ b1 7 e g B B R 9 9 B @ (@ [GuE 9 B 4 ue
§ R B O B SE(h ¥ STB AW M Bl 3 HS H BR Ahal @ AR g 8 B
& g @ BT 8 HE ¥ X wHd B, A ST H I BT B G bR A TR
I T B TR B ?

(1) & @) 4 @) w 4 =

National Literacy Mission was established in :

oot forewedt fies @ <ermar gg o ¢

(1) 1988 # (2) 1998 # (3) 1999 # (4) 2000 #
Who is known as the 'Father of computer’ ?

(1) B. Pascal (2} H. Hollerith

(3) Charles Babbage {4) ]. V. Newmann

FEIER Pl SIH P oA ?

(1) <o Uhd (2) Tdo BieAfRer

(3) et W (4) o o =

NIVH is concerned with the :

(1) Special education (2) General Education

(3) Physical Education {4) Technical Education

T A€ T @ W B

(1) fafdre fer & (2) E= e |

(3) IRIR® e & (4) Ted e |

What is PPP in Education ?

(1) Public-Private Partnership (2) Private-Public Partnership
(3) People-Public Partnership (4) Participatory-Public Policy
Remdft A wms?

(1) ufecre-urgde gre-Rin (2) urgde-ufta® urdaRi3n

(3) due-ufeds TERRT (4) nféRrIes-gfeeta dfferit

(7} P.T.0O.
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25.

26.

27.

28.

29.

30.

Inclusion in education is an approach to educating students with :

(1) normal educational needs (2) poor special educational needs
(3) rural educational needs (4) special educational needs
e # WA 39 wwEl of Rt e # U wuE § R

(1) e it awmad § ) we A sergEa €
(3) arior e aTIHIR & (4) fafere 9ifdre mazawand &
Principle of multimedia approach is basically related with :

(1) National Literacy Mission (2) Distance Education

(3) Education for All Scheme (4) Work Experience Schemce
g8 wegd surd (e fAfsar amte) w1 R Jored | gy ©

(1) IR e e g (2) e e 9

(3) wEad fow e AT @ (4) @14 T AT W

In which year the first Open University was established in India ?

R # o g fazafderey & et ey w4 gl ?

(1) 1983 ) 1981 (3) 1980 (4) 1988

Vocational education combines productive labour with education and athletics
on the basis of the idea of whom ?

(1) Karl Marx (2) Lenin
(3) Mahatma Gandhi (4) Bertrand Russell

e R 9 Saaes sm B REn R Wagng & Wy Sied o Javen &as
faomR & PR R A 8 ?

(1) orel ARy (2) &
(3) wErEr ARl (4) ¥ e

Right to Education Bill is associated with which year ?

e & AR @ Wty R s daa P ag w2 ?
(1) 2005 2) 2004 (3) 2003 (4) 2001

In the concurrent list of the Indian Constitution, how many subjects are there
now ?7

WA et A wwradl g @ F adwe # e v afafea & 7
(1) 47 (2) 57 (3) 37 @) 27

(8)
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SECTION-B
gug — §
A random variable X has the moment generating function Mx(t) = 3/(3 — t).
If mean of X is "m" and variance "v" then :
(1) m=v ) 2m? =v
(3) m? =2v (4) m’=v

D% IGRET W X Argelea wee Mx(t) = 3/(3 - t) W& £, afy X & 97 "m”
3R TR vt o ar:

(1) m=v (2) 2m?% =v
(3) m2 =2v (4) m? =v

If a2 random variable assumes value either 0 or 1 such that P(X = 0) = 3P(X = 1),
then the variance of X is :

(1) 1/16 (2) 2/16
(3) 3/16 (4) 4/16

If 1S Tgfes IR X AT A 0 A1 1 5 39 UaR o 3 & P(X=0) =3P(X = 1),
A X BT T

(1) 1/162 (2) 2/16%
(3) 3/16% 4) 4/16 %8

Given that P(A) = m and P(B) = n, then :

(1) P(A|B) < (m+n-1)/m (2) P(A|B) = (m+n-1)/m
(3) P(A|B) < (m+n +1)/m @) PA|B) = (m+n+1)/m
far mr @ 76 P(A)=m 3R P(B)=n, O :

(1) PA[B) £ (m+n-1)/m (2) P(A[B) = (m+n-1)/m

(3) .P(AIB)s(m'+n.+1)/m (4) PA|B) = (m +n+1)/m
(9) P.T.O.
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34. For a random variable X, E{(X) = 3 and E(XZ) = 13. Then the least value

35.

of P(-2 <« X < 8)is:
(1) 21/25 (2) 14/25
(3) 7/25 (4) 4/25

fodl agfies = X @ fo E(X) = 3 s E(X?) = 131 o P(-2 < X < 8)
BT HH F FH A ¢

(1) 21/25 (2) 14/25
(3) 7/25 (4) 4/25

Match the following properties with their distributions :

Properties Distributions
A : Bell shaped I : Poisson
B I Mo =3 II : Binomial
C : Mean > variance Il : Chi-square
D : Mean = Y(variance) IV : Normal

Choose the correct answer from the following codes :
1) (A, IV), (B, I), (C. 1), (D, II)
2) (A, D, B,1I), (1, (OIV)
(3) (A, 1), (B ID), (C,IV), (DI
(4) (A 1D, (B, 1V), (CD, (DI

Prefaied il & 998 deAt § A ey

il geT

A P IR I @9
B y =u3 n o fam

C : > WRT I : FE-at
D Egs BERR) IV : Y9HRg

T8 IR &7 T ffaiad gel 4 9 Bk ¢

1) (A IV), B0, (CIn, (OO

(2 (A, D), BID, (CI1I, ([DOIV)

(3) (A, ID, (B, I, (C1v), (DD

4 (A1, @B1IV), €D O
(10)
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A and B are two events with A < B and P(B) < 1. If p; =P(ACUBC),
P2 ZP(ACn B®) and P3 =p(AC |BC),then:

(1) p1<p2<ps3 (2) p1spasps
() p2sp1<ps 4) p3<p1<p2

AcB 3R P(B) <1 & ¥ arell /1 wieeg A ik B &) @R py =P(A“|JBS),
p2 =P(AC[ BS) aiR ps =P(AC|BC), @t :

(1) p1<p2<p3 (2) p1<p3s<py

(3} p25p1<p3 (4) p3<p1<$p2

In a university, there are 70% boys and 30% girls. It is known that 40% of the
boys and 60% of the girls have urban background. If a student is randomly
selected and found to have urban background, the probability that the selected
student is a boy is :

(1) 22/23 (2) 18/23
(3) 16/23 (4) 14/23

el faeafderem # 70% o ok 30% wsfEl & wE 9@ & asel
W 40% R A ¥ 60% wed oy wrh ¥ o @ v agfee
W P S € R aw wed gofy xww 9l e o ® O wete weE
b TeDl § D WIddmar

(1) 22/23 2 (2) 18/23 &
(3) 16/23 & (4) 14/23 2

(X, Y) has the joint probabilty density function as follows :

f(x,y)=2, O<x<y<l
=0, otherwise
then p(Y - X >0.5) is :
1) 1/8 @) 1/16
(3) 1/4 (4) zero

(11) P.T.O.
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(X,Y) Aird § 78 wif¥ear v9d Bed /= @

fx,y) =2, D<x<yxl
=0, RIEIDI
A p(Y -X=05):
(1) 1/8 & 2) 1/16 &
(3) 1/42 4) Ta?

39. Xisastandard normal variable. Define :

v X if|X)<1
=X if | X|21

Then the distribution of Y is :

(1) Uniform over (0, 1)

(2) Standard normal

(3) Uniform over (-1, 1)

(4) Normal with changed mean and variance
X ®IE 7w TN oR B uReTa St fF

v [ X aRIx|<1
Tl-x afaix|zi

WY &7 §eA -

(1) (0, 1) R 99&Y 2
(2) F® FEHY ©
(3) (-1,1) W FFHT B

(4) uRaffa arm v TR & ORI g #
(12)
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40. A random sample of four observations X{, X5, X3 and X, is drawn from a

41.

normal distribution with mean p and variance 2. Which one of the following
unbiased estimators is most efficient ?

(1) X{, Xp, X3 and X4 @) (Xq+X,)/2

(3 (X1+Xp2+X3)/3 (4) (X1 +X3+X3+X4)/4

TR Ve Xy, Xp, X3 R X, & #E agRoe R o p o Wk o
Il TEMT @29 A et war § | FreafaReaa s=fme steee 3 @ S19-91 Ud
Iy AP g B ?

(1) Xy, X, X3 3R X4 (2) (Xq+X5)/2

3} X1+X2+X3)/3 (4) (X1 +Xp +X3+Xy)/4

A random sample of size n is drawn from a population having probability
density function :

f(x|8)=1 ife-1/2<x<6+1/2
=0 otherwise
If X¢ry denotes the rth order statistic, the maximum likelihood estimator for 8 is
(1) Xqy +% 2 X@ —1/2
3 [ X + Xm)l/2 (4) all the three
n MBR &1 [ Ygfos ufred miea uvd v
f(x|8) =1 a0 -1/2<x<0+1/2
=0 AT

@Y e fee F W Fraren a2 afd o i ufeets B X, fafea avar
g o 0 o ford fRway g aTHas ¢

(1) Xg+% 2 @) Xmy-1/2 38

(3) [X(l) +X(n)]/2% (4) 4 =l 8
(13) P.T.O.
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42,

43.

44.

If X is a single observation from a Poisson distribution with parameter
0 then (-4)% is :

8 —48

(1) unbiased estimator of e~ (2) unbiased estimator of e

(3) unbiased estimator of e™>°

o} 0 wrae @el @t geT | X e Jervr &) ar (—4)%
(1) &30 o7 smf aTeeE ¥ @) e 7 e oTwEs ®
3) e @1 s e § @) s HTHA o 9 T R

(4) none of these three is true

It is proposed to test the hypothesis Hy : 6=2 against H; :80 =1 on the basis of
a single observation X drawn from a population having probability density
function f(x}8)= 0e 9 x> 0. The size of the test which rejects Hy if X > 11is:

1) € @) e
3) e* -1 @ (2-17!

yiRed o Bad (x| =0, x>0, W a T ¥ Fee T e
Beror X WR AR uR&HSAT Hy:0=2 &1 Hp:0=1 & faeg wlan & weafan
T 1S9 TE0T BT ABR ol Hy &1 Igd oar 8 af& X > 1+

(1) e* 2 2 e? %
(3) e2-1% @ (*-1n7t®

In a two way classification with one observation per cell there are 4 rows

and 3 colums. The degrees of freedom of F-test for testing the equality
of row means is :

(1) @,9) (2) (4,6)
(3) (6,4) (4) (6,3)
U Uefor ufty ®e are fR fgmnl aitexer § 4 dfdat @ik 3 wwr € dfkrat @
e B SNIES B GAe ford F-uRerr Y e e
(1) 3,6) (2) 4,6)
(3) (6,4) (4) (6,3)
(14)



45.

46.

47.

12U/94/21(Set-1)

The t-distribution with one degree of freedom is :

(1) Normal distribution (2) Cauchy's distribution

(3) F-distribution - (4) None of these

UEH Wa=ar $ife are t-ded

(1) THHRY de 8 (2) ®rEf g B

(3) Fdeq & (4) T A PE TE 8

A sample of size n is drawn from a population of size N using simple random

sampling without replacement. The probability that a specified unit will be
included in the sample is :

(1) 1/N (2) n/N
(3 1/N" @) 1/™Cy

nHHR B T gRice N-omdr & fodl o ¥ g wmen R ugad wes ge
Feren ST 21 ve ARt 3o @ yRied § wfera 89 @ wiitear -

) /N g (2) n/N &
(3) 1/N™ 2 (4) 1/°Cy ®
If B; and B, are Pearson's coefficient of skewness and kurtosis, which of the

following pairs of values can not be the possible value of (B, B;) for any
distribution ?

1) (1.2, 2.1) Q) (1.1, 2.6)
(3) (0.5, 5.3) @) (0.8, 1.9)

e By AR P, Ml & Rwm ok wgem & wis & o el
A B g § § wE oA Rl o gem @ R (B, Bp) @1 wmnRE we
& B\ 2 ?

Q) (1.2, 2.1) @) (1.1, 2.6)

(3) (0.5, 5.3) 4) (0.8, 1.9)
(15) P.T.O.
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48. Which of the following is true ?

49.

50.

(1) For negatively skewed distribution : Mean < Median < Mode
(2) For negatively skewed distribution : Mode < Mean < Median
(3) For positively skewed distribution : Mean < Median < Mode
(4) For positively skewed distribution : Mode < Mean < Median
frefofaa # @ o wf 8 7

(1) o fAwd 921 & o) @ 7y < 7RasT < aga®

(2) oTs fAwH de7 & Ay 9gde < "Ry < HieaaT

(3) wFrHe fawe deq1 @ fog @ ama <A@ < 9gas

(4) e faww dew & forg @ 9g5a® < Wra < Wit

The mean weight of 150 students in a class is 60 Kg. The mean weight of the
boys in the class is 70 Kg. and that of girls is 55 Kg. The number of boys and
girls in the class is respectively :

(1) (100, 50) (2) (80, 70)
(3) (75, 75) (4) (50, 100)

e B 150 faenfial o7 e IR 60 o ® | wen @ Tl @1 g ¥R 70 R
3R Tl @1 55 f5ar 21 werr H dedl 3R dsfhal & He e

(1) (100, 50) 2 (2) (80, 70) &
(3) (75, 75) & . (4) (50, 100) &

If 20X + 9Y = 107 and 4X + 5Y = 33 are the equation of regression lines for given
data, the correlation coefficient between X and Y is :

(1) £036 ) +0.36

3) -0.36 (4) None of these

R & seel & fo 9w Yl st WwieRer 20X + 9Y = 107 R
AX+5Y =33 8 X R Y & 7e0 FewsEy YO

(1) +0.36 ) +0.36

(3) -0.36 (4) 37 A PIE A8 T
(16)




51.

52.

53.

12U/94/21(Set-l)

The curve of nth degree cuts the asymptotes at :

(1) n-points (2) (n—1) points

(3) (n-2) points (4) (n-3)points

nd f&f &1 9% IR Y pred 2

(1) n-fomgall w 2) (n-1)fagal w

(3) (n-2)fFgal (4) (n-3) et w
372 ¢ \4

For differential equaiton [j_x%i] + [g—x%) + xy=0:

(1} order = 3, Degree =2 (2) order =2, Degree =3

{3) order =2, Degree =4 (4) order =4, Degree =2

B3yY ()
Wﬂ?ﬂaﬂw(—l]+[—l}+xy=0fﬁm:

dx dx?
(1) P =3, a1 =2 (2) B =2, g =3
(3) ®Ifec =2, ary =4 (4) dfe =4, 7 =2

The equation of the tangent at the point (x, y) on the curve y = a log sin x is :
(1) X—x=a(cotx) (X-x) (2) Y-x=a(cotx) (X —x)

(3) Y-y=a(cotx)(X-x) (4) X -y =a(cot x) (X - x)

9% y =alogsinx & g (x,y) W wdl &1 ¥ 2

(1) X-x=a(cotx) (X -x) (2) Y-x=a(cotx) (X-x)

(3) Y—y=a{cotx)(X—x) (4) X—y=a(cotx)(X-x)
(17) P.T.O.
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1 2 3
54. Rankofthematrix {2 3 4|is:
3 45
(1) 1
3) 3
12 3
A |2 3 4| A B
3 4 5
M1
3 3

55. The polar formof1l+iis:

(1) Ji(sin%ﬂcos-g-]
(3) ﬁ[cosg-—isin%]

1+i &7 g4y ®9 8

1) Jf(siniﬂcosE)
4 4
(3) Ji(cosﬁ—ismi‘-]
4 4

86. If f-i—r-l-—g = —1—‘22, then 8 is nearly equal to :
0 1014
(1) 4°2¢4'
(3) 2°24'
sinf_1013 & o s w2
0 1014
(1) 4°24'
(3) 2°24'

(18)

@) 2
@) 4

2) 2
@) 4

(2) \/E[sinE -i coszt-]
4 4

4) ﬁ(cos%ﬂ Si“%]

4

(4) \/f[cosE +1isin E)
4 4

(2) «/E[sin%—i Cos E)

2) 3°24'
@) 1°24'

(2) 3°24'
4) 1°24'
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57. The value of log (1) is equal to :
1) =%i (2) -n21i
(3) —-mi 4) =i
log (-1) @7 ®F SRT&R EAM
(1) n2%i ) -n?i

(3) —mi 4) =i

'58. The number roots of the equation x3 —343x-3x++/3 =0 are :

M1 @ 2
3) 3 @) 4
THEOT X2 —33x - 3x++/3 =0 F7 e g &
1 () 2
(3) 3 @) 4
59. If (1+x)" =Py +P1><+P2x2 T where n is an integer, then the value of
Fo—-Pp +Pg —....c.c.. is equal to :
1) 27/2 0™ @ 2°/25in 2%
4 4
@) 2" 2tan " (4) 27/ Zgec ™t
4 4
gf (1+x)n=P0+P1x+P2x2+ .......... Gﬁnw Tﬁﬂi%, ar Po—Pz +P4—- ..........

(1) 2n/2COS% @) 2n/2 sin%n—

3) 2“/2tan% (4) 2“/zsec%

(19) P.T.O.
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60.

61.

62.

If 235x = 54 {mod 7), then the value of x is :

(1) 6 (mod 7) (2} 5{mod7)
(3) 4 (mod 7) (4) 3{(mod?7)
afy 235x =54 (mod 7), W x & A & :
(1) 6(mod7) (2) 5 (mod 7)
(3} 4{mod 7} {4) 3{mod7)
1—-cos 2ax
im ———— isequalto:
x —» ¢ 1—cos 2bx
a b
1) - 2) —
(1) o (2) )
2
a 2a
3 — 4y <2
@ 5 @ 3
1-cos 2ax
im ~——— " TR #
x-+01-cos 2bx
a
1) — 2) —
(L o (2)
2
a 2a
3) — 4) —
® 5 @ =
The derivative of sin ™ 5 wrt. tan ! 5 isequal to:
1+x 1-x
(1} 0 (2) 1
2x 2x
3 4
® 1-x2 @ 1+x2
sin™ —= %1 tan”] 2"2 B AT e aWER |
1+x 1-x
1) 0 (2) 1
2x 2x
(3) (4
1-x2 ) 14x2

(20)



63.

64.

65.

12U/94/21(Set-1)

The value of (0_2)logJ§ (%+—;—+£E+ .......... oo] is equal to :
M1 | (2) 2
(3) 3 (4) 4
(02)]08\/5[2+—-+%g+ .......... OOJ WWW%
1 (2) 2
) 3 (4) 4
- 2 - g —»

If a+b+c=0,{al|=3,|b|=5,|c|=7, then the angle between the vectors
- =4
a and b will be equal to:

n T
1) = ) R
O ) 3

T
3 — 9y =
S (4)

M Z+b+C=0,|3|=3,|b|=5,|C|=7, @ ¥x T K B @ g B Pl
RTR BT

n T
(1) 0 2) 3
T bix
3) 1 Y A

If f(x) = tan x, then the value of f(x) + f(—x) will be equal to:

(1o | (2) =

(3) 2tanx (4) —2tanx
AR f(x) = tan x, & £(x) + f(~x) BT T REL BN :
o (2) »

(3) 2tanx (4) 2tanx

(21) _ P.T.O.



120/94/21(Set-1)

66. The radius of curvature of the curve p = b sin y cos y is equal to :

1) 2p @ -2p
(3) 3p 4y -3p
a5 p =b sin y cos y B T Bowr | T

(1) 2p (2) -2p
@ 3p 4) 3p

67. It Cor : 24C2r _4 =225:11, then the value of r is equal to :
(1) 7 (2) 14
(3 21 (4) 28

oy BC,, : My, 4 =225:11, W ¢ FT AT WKW T
1) 7 ) 14
@) 21 @) 28

68. If a be a vector, then which of the following is true :

MW 12 [>0 @ |2 <0
@) |2 {=<0 @ 12|20
AR D e R @ PRl 4 S W g d

M |2 ]>0 @ |4 ]<0
3 13 ]<0 @ |3 20

2

69. If xPy9 =(x+y)P 9, then the value of i—};— will be :

dx
1) 0 2 1
3) 2 4) 3
2
e xPyd =(x+y)P*9q, @ g—g BT HAE B :
X
1) 0 2) 1
3 2 4) 3

(22)
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70. If H is the subgroup of the group G, then which of the following is false :

(1) HY=H (2) HHcH
(3) Hc HH 4 H<H!
It H @9 G &1 SUGE 81, 1 (fafed ¥ § #i9 e §
(1) H'=H (2) HHcH
(3) Hc HH (4 Hs H!

71. The sum of the 5th powers of the roots of the equation x> -1=0 will

be equal to :

(1) 0 (2) 1

(3) 2 4) 3

wfteRe x2 —1=0 & 548 =l & g B AT W B
o 21

(3) 2 (4) 3

72. I axa=binG, where Gisa group, then the value of x is equal to :

(1) apa? @) b lap
(3) aba (4) bab
Ifs v g G ¥ axa=b, @ x @ A &R B :
1) albal @ blap™
(3) aba (4) bab

73. Parametric equation of the catenary is

(1) y=ctany (2) y=csecy
(3) s=ctany (4) s=ccoty
SR @1 wifi Wwhewr 2

(1) y=ctany (2) y=csecy
(3) s=ctany (4) s=ccoty

(23) P.T.O.
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74.

75.

76.

77.

The radius of the sphere x? +y2 +22 4 2x +4y -6z-11=0 will be equal to :

(1) 4 ) 7
)5 (4) 8
et x2+y2 +zz+2x+4y—6z~11=0 EARECEIIETE T
1) 4 2) 7
(3) 5 (4) 8

The divergence of the vector (x2 —~y2)i + 2xyj+(y2 - xy)k is equal to :
(1) 2x (2) 3x
(3) 4x {(4) 5x

afesr (x2 —yz)i+2xyj+(y2 —xy)k @7 fagem ave) @

(1) 2x (2) 3x

(3) 4x (4) 5x

The equation 3x% + 4y2 +522 +2yz+4zx +6xy =0 represents a:

(1) Pair of Planes (2) Sphere

(3) Cone (4) Cylinder

wfiHeer 3x? +4y2 +522 +2yz+4zx +6xy =0 Fafle war 2 -

(1) qa g (2) e

(3) =% (4) e

If relation x R y = x — y is an even integer ¥x, y € I (set of integers), Thus

relation R is :
(1) Only symmetric (2) Only reflexive
(3) Only transitive (4) Equivalent relation

fe Y xRy = x —~y U@ 94 PG § Vx, y e I (Qfe o1 wgz7), 39 THR
| R B

(1) Pae THRY (2) B GG
(3) DI HFHD (4) I EY =
(24)



78.

79.

80.

120/94/21(Set-1)

If x =rcos 6, y=rsin 0, then the value of M is :
a(r, 0)
@ @ 1
® 1 ®
afd x =rcos§, y=rsin @, @ olx, y) T A € :
o(r, 0)
@ r @ -
r
1
3) r? 4 —
® ® 5
The value of lim (sin x)®"* is equal to :
x—>1[2~
1) o @) 1
3) 2 (4) 3
limn (sin x)1 X @7 79 IR 2
X2
(1) 0 (2y 1
3 2 4 3
The value of I‘(—;-) is:
(1) = @ =
: G
3) 5 (4) 5
F(}-J ®1 AN B
2
= @ Jn
n J7
(3 > (4) o

(25) P.T.O.
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81. I; ;Sinerdedr.isequalto:
2

na ta
1 =2 7y 2
(1) 2 (2) 1
2
xa a

3) — 4
(3) 5 (4) >

J’gj‘;smerdedr. HT A R

2

na na
1) — 2) —
(1) 1 2 1
2
na ma
3) = kil
@ = @ =
® -1
82. The series Z(—l)n 1. 1- L + L1 T evverrens
) nP 2P 3P 4P
convergent if :
(1) p>1 2) p=1
3 p<1 4) p=0

absolutely

%}Uﬁi(—l)nnl—l—zl——i+i—i+ .......... quid: HEd § I

nei nP 2P 3P 4P
(1) p>1 (2) p=1
3 px<l 4 p=0



83.

84.

85.

12U/94/21(Set-1)

I; f;Z _[;_x zdzdx dy isequal to:

M 5 ® =
® 5 W 7
Ll fy “zdzax dy wram

0 5 @ =
o @ Z

The general solution of the differential equation (D2 ~-3D-4)y=01is:

X 2

(1) y=cie¥+cye” (2) y=ce +cye™

X X

3) y= cle4x +cqe” (4) y= cle?’x +cye”

Jamd e (D2 -3D—-4)y =0 &1 &uF e &

(1) y=ce*+cpe™ @) y=cie® +cpe™
3

(3) y= cle4x +ce " (4) y=c;e* +Ic2e*x

When 893 is divisible by 103 (mod 197), The remainder by Fermat's
theorem will be :

(1) 8 ) 7
() 6 (4) 5
o9 8192103 (mod 197) 3 gRT fnrifora &, < wede Wi g1 Smd BN
(1) 8 ) 7
3 6 4) 5

(27) P.T.O.
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86. Of which order of the following, a subgroup is always a normal subgroup :

(1 3 (2) 2
(3) 4 @1
A & 59 91T &1 UF SUAIE Haq WY IIEYE ©
1 3 2) 2
(3) 4 4) 1

87. The generators of the cyclic group of order 10 are :

(n 2 2 3
3) 4 (4) 5
KT 10 P BT THE B T BT AT ©

1 2 (2) 3
(3 4 4) 5

88. Which of the following are groups for mod 6 with respect to
additive operation :

1) {0, 2 3,4, 5 2 {1 2

(3) 0,1, 2, 3, 4, 5} (4) {0, 1, 2, 3, 4, 6}
frefafan & @ o Ao Ui @ W mod 6 & foR) W E B -
(1) {0, 2, 3, 4, 5} (2) {1, 2}

3) {0, 1, 2, 3, 4, 5} 4) {0, 1, 2, 3, 4, 6}

89. The cube roots of unity are :

M 2 @) 3
(3) 4 (4) 5
(1) 2 2) 3
(3) 4 (4) 5

(28)



90.

a1.

92.

Simplification of 5(1)!! +6(i)” —9(i)° is:

(1) -20i (2) -151i
(3) +201 @ +151
5@ +66i) —9(1)° w1 AeEBI T

1) -20i @) -15i

(3) +201 (4) +151

The argument of complex number 1-,/(-5) is:

(1) tan"'y=5 (2) tan™H(~5)
a1 11
(3) tan 75 (4) tan T

wfas @1 1-.J(=5) &1 BT E

(1) tan'J=5 (2) tan~Y(-v5)

-1 1 -1 1
3) tan!—= 4) tan~l——
(3) tan N (4) tan -
The centre and radius of the circle x2 +y2 +4x-4y—-1=0 are:
(1) (2, 2)and 3 (2) (2, -2)and V7
(3) (-2, 2)and 3 (4) (-2, 2)and V7

g1 x% +y2 +4x~4y -1=0 &1 B 3R B
(1) @2, -2)R3 | 2) @ -2)3R7

(3) (-2, 2)3iR3 @) (-2, 2)8R 7
(29)

12U/84/21(Set-1)

P.T.O.
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93. Solution of the following system of equations is :

94,

X1 +Xp +x3 =0
X1 +2X2 —X3 =0

2)(1 +X2 +3X3 ={

1) x=1, y=2, z=3 (2 x=2, y=3,
B x=0, y=0, z=1 4) x=0, y=0,
e witeoll & erawen &1 & ¢ ¢

X1 +X3 +x3 =0

X1 +2x9 —x3 =0

2x1 +X +3x3 =0

(1) x=1, y=2, z=3 (2) x=2, y=3,
(3) x=0, y=0, z=1 (4) x=0, y=0,

If u=t2i—tj+(2t+1)k, v=(2t-3)i+j-ik, then %(u, v)att=1lisequalto:

(1) -6 2) 6

(3) -4 4) 4

M u=t2i-+2t+Dk, v=Qt-3)i+j-ik, @ t =

A )R ¢ -
(1) -6 (2) 6
(3) ~4 (4) 4

(30)

1 W i(u, v) @I
dt



93.

96.

97.

12U/94/21(Set-)

If the slope of a curve y= ax
—X

at the point (1, 1) be 2, then the value

of a and b will be equal to :

(1) a=2, b

]

1 @ a=1, b=2

3) a=1, b=1 @) a=2, b=2

afe sy (1, 1) W aw y=baX BT 3[FG 2 € 1), a 3R b BN A §XER 8RN

—X

(1) a=2, b=1 ) a=1, b=2

3) a=1, b=1 (4) a=2, b=2

If the imaginary part of 2271

; is =2, then the locus of the point representing 2z
17

in the complex plane is :

(1) acircle (2) astraight line

(3) aparabola (4) ahyperbola

s fj:; & afrefaT W -2 & A Aty ow § 2 @ e 9w R
&1 fovg ooy 2

(1) & g (2) U W @1

(3) UF UNgeld (4) T srfau=dey

The sum of probabilities of happening and not happening of incident
seperately is equal to :

1 0 2y 1 (3) 2 4) 3

&R wear B wlekg @M O uwfed T BN W arcm-era wilkEdare @1 OnT
IR BT

(1) 0 (2) 1 (3) 2 4) 3
(31) P.T.O.
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98.

99,

100.

What is the probability of being 53 Sundays in a year which is not a leap year ?

) @

(3) (4)

Nl |
®|= o=

el a9 A o siftrad 7 8, 53 MR B9 @ miww @@ g ?

1 1
h s 2 r
1 1
) 5 (4) 3
Which is true for logg 2 ?
(1) Itis a rational number (2) It is not a rational number
(3) Itisainteger (4) Itisareal number
logs 2 @ forr fr=ifeRa ¥ 4 &7 g 2 7
(1) I8 va uR¥g & 2 (2) T8 UF uRAy Gy 98 ®
(3) I8 & YUli® B (4) 9% e a«fad A= 2

Area of the region bounded by the curves y2 =4-x and y2 =X is equal to :

16J_

(1) 16 square unit (2) square unit

16J_ 16(

square unit (4}

(3)

square unit

Th y2=4-x A y? =x gR R &= &7 v W &

(1)y____a1fg$r§ (z)liaﬁmg

(3)195Qa1fs$rs‘ (4)£ Tt e

(32)
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(58 gRAF & TRM RIS W RGF & AT g6 R dael Hefl/ vt sokage ¢S & )

1.

2.

10.

11.

12.
13.
14.

e YRRt fBem @ 10 e @ R ) @ o & vermm W @il ge dg § ek e
T Bel A8 § 1 YR QMg IR ST WS99 AT aweie e RiEd B g
|l TEE @) gEY gRaeT W e o |

e WA H forprer R mdLva & foftem, e @ oW ®1F 0 g
wier ® 51 e |

ST AT ¥ Ry w1 g@ T a7 gk 7 & g ¥ o soRyy T
fT SIrde | Bae SoRyd @1 & qols [$9r TR

. HUFT YFEIE dT SUN-F BT HAIP HYH ravvrgaw w97 @ FuiRa v

R o |
VURTH @ FOH T8 W UT & 9 sgpie [Ny v W) ford gem 9 A gt

@ WET PN &1 WEI-5E Aagd 8 g8l HELYRIBT BT FHH qUT WS B TR
9T vl o ford

. 3o THo Mo UF WX FHHIG Wewl, wei-gRaw W 9 We G @R o @) aen

UE-gRE®T IR JERIE W AR oo To 3Ro udl weel @ yfaftedl § suRerws &
sty w8 R |

. Sugad gfafeat & @ O uReda e Mlgs g wwfta B9 ol sreen @' @

SR W BT WANT A SR |

. TEYRaE # TRE TR B AR dafeud TR A W ¥ | Il e P defoqd IR 7

fordt gt ge-ua @ wefo 9fag @ W (9 T o &) 9ORUF § NeW TS W
g T Adel @ sgar 4T | Ter oYar 8

TS U B SR B 0 Bad TH A gE B M B U A AAS gAl D) TG DA

R Hfal U6 g7 B Yol ¥R W) 98 IR el HET S |

&g ¢ & o g7 wrd gRT dfda gaY gear 98 o wwar 81 AR A9 B g
& BT AE o7 FrEd & W Wk Uil @ w1 e gt & @l e |
T sl W T I 13 o

E B ¢ fad 39 gRaeT & JEYT @ e aTel U 9 I Wiell W @
TORT X |

Tl ® IR PAA 3ffo §Ho 3o TTTE-YH & Werr waw § S ¥ |

THe T B W UES AT HaH W e’ W T S T8 gnh

afy o et wdenr # srgf Wt w1 W 9Ra €, O 97 Rwleran g FuiRa
3¢ &1/ w4l e /e |
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